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Unit 7 Day 11 Notes on the Zero Product Property

What is the zero product property?
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Reverse! Reverse!
Write a polynomial equation in standard form and integer coefficient that has the following solutions.
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Applications ...

1) The area of a rectangular rug is 84 square feet. The length of the rug is 5 feet more than the width.
Find the dimensions of the rug.
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2) The area of a rectangular slab of sidewalk is 45 square feet. Its length is 3 feet more than four times its
width. Find the length and width of the slab.
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